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3 2 3

X
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16)

17)

18)

19)

20)

21)

22)

23)

X f x? fxx fxx?
224 2 50176 448 100352
274 3 75076 822 225228
324 6 104976 1944 629856
374 3 |139876 | 1122 | 419628
424 4 | 179776 | 1696 | 719104
474 2 224676 948 449352

LJ | 20 6980 | 2543520
C
DoxXf 6980
20
> f
DX @)
> f
| 2543520 — (20)(349)?
20
= 5375
5375 ~ 73.31
PRAT) = > = L
50 10
PRAT) = 11
30
11
PR|T) =—
RIT)=—
38
P(RNR)) = ~—
(®,NR,) 245
1
P(W,AW,) =
4
P(BOW) + P(WNB) = —
p(B,B)zixizi
373 9
PB,W) =2 x o2
373 9
PW,B) =L x 2 =2
33 9
1 p(W,W):ixi:i
3 373 9

P(BNW) + P(WNB) + P(BNB)

2 2 4 8
S+ Sy =
9 9 6 9

18)  P(RNR,) = P(R) x P(R,|R,)

=0.7x%x0.8=0.56

190  P(GNG,) = P(G)) x P(G,| G,)

=0.3x0.6=0.18

20)  P(RNG)+P(GNR)

=0.7%x0.240.3x0.4=0.26

21)  P(T) = 90%, P(M) = 25%

P(TNM) = P(T) x P(M)
=0.90 X 0.75=0.675

22)  P(MNT) = P(M) x P(T)
=0.75 x 0.1 = 0.075

23)  P(MUT) = P(M) + P(T) — P(MNT)

=0.254+0.9-0.25x0.9=0.925

¢P(ANB) = 0 5« P(A|B) =

PANB) . palB) =
P(B

P(B) #0051 b &

P(AMB) =< L

P(B|A)= rm) L

5 P(A]B)=

P(ANB)
A

N LaadS 5 « P(A)= P(B) 015 131 Y] 5y sle 05555 Y

Nae éjLw-g

= P(R)xP(G|R)+P(G) xP(R|G)

(29

(30

RO P PE IEES I C PER W PY |

S (g 150 (51 Ll 10 50% Of imy Lin ¢, =628
62 8 o 5T i Js

U.ASO% d\gs—"'*"\uﬁ JQR = Q Q =72-52=20
72g352gWC‘JL€"”JSM(W150L5\)JG‘J\

6\)%\&80%0\&‘Mjcbfb73g6ju80u~wj\
Ll oy 20%u\j\‘73gu_AJ3\L€..¢Jsa,s(4_¢,,240
73gde.»J.,L@.~aJS4LS(W60L;\)
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(13

(14
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12yl kel oS Azuf bl 3 VRN PR Ve PO 2L PER WP

S 6,1 S sl @ |9

A
Ll 3 st PR A
0 0 ¢
65 ®
50 6 .
60 °
100 15
150 30 ” o
200 55 *0 o.°
250 86 4
300 123 40 *
350 155 35
400 172 30 :J,.Ht
100 110 120 130 140 150 160
450 177
S g BLILY

SIS pdl (5

5)
SIS )
A
70A
250 65
60
200
55
150 50
100 45
40
50
35
tal) LA 5
0 > 20 skl
0 50 100 150 200 250 300 350 400 450 100 /110 120 250 0 150 o0
B olaad s c Aolaal STl g, Sl ol @ | 9
h(cm)
A
SN 1S 180
A Aol 170
80
B Ladll 160
150
60
140
130
40
120
20 110
100
w‘alg\a-}b-\&
0 > 90 » f(cm)
0 5 10 15 20 25 5 /10 15 20 25 30 35

y=4.38x + 50.18
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15 sl el oS U] bl

13 ol el oS U] bl

(1 3
el il il b=Vl
& 2 2
B L] X f X fxx fxx
3 R (R, R) %X % :% 2.5 4 6.25 10 25
> 7.5 9 | 5625 | 67.5 506.25
R
12.5 20 | 156.25 | 250 3125
I™SB  ®RB)  SxZ=2
5 5 25 17.5 7 | 306.25 | 1225 2143.75
3 _R (B,R) 2x3-5 22.5 5 |506.25 | 1125 2531.25
5 5 5 25
B gl | 45 562.5 | 8331.25
> 2> p B,8) 2x2-4
5 ; A=
2
5 0 2 B DxXf _ 562.5
U= S === =125
(5
Sy SNl sl Jlz=YI
JsY Sul .
: A s e oS ] oLl
1 _R  (RR) %x%:% At
: R 4) P(ANB)=P(AUB)=1-P(AUB)
5 D~y omy  Skxlot
9 2 18 03=1—-P(AUB) = P(AUB) =0.7
o R (Y, R) 4 X S_23
, . 8 9 8 18 P(AUB) = P(A) + P(B) — P(AN B)
9
3™y v Y 4.3 _1 0.7=0.5+0.6 — P(ANB) = P(ANB) = 0.4
8 N §%5"%

5) P(ANB)=P(A) —P(ANB) =0.5—0.4=0.1

6) P(BUA) = P(B) + P(A) — P(ANB)
= P(B) + P(A) — (P(B) — P(AN B))

=P(A) +P(ANB)=0.5+0.4=0.9
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